
Séquence de Nombres Linéaires (I)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 142 292 442Différence commune:2. 617 627 637 647 657 677Différence commune:3. 685 690 695 705 710 725Différence commune:4. 765 775 780 785 790 810Différence commune:5. 307 382 607 682 757 832Différence commune:6. 200 300 800 900Différence commune:7. 308 333 383 458 483 508Différence commune:8. 221 246 271 346 371 396Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (I) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 142 217 292 367 442 517 592 667 742 817Différence commune: 752. 587 597 607 617 627 637 647 657 667 677Différence commune: 103. 680 685 690 695 700 705 710 715 720 725Différence commune: 54. 765 770 775 780 785 790 795 800 805 810Différence commune: 55. 157 232 307 382 457 532 607 682 757 832Différence commune: 756. 100 200 300 400 500 600 700 800 900 1000Différence commune: 1007. 308 333 358 383 408 433 458 483 508 533Différence commune: 258. 221 246 271 296 321 346 371 396 421 446Différence commune: 25Mathslibres.com


